[ U ARK@ AMPHENOL
TRUSTED GLOBALLY

Manual P/N: 8P1119
Rev.05 20210902

"

GEC | TPI

PowerLok G2 1

1 B 22 25 i A

PowerLok Receptacle G2 Installation Instructions

www.amphenol-gec.com




PowerLok G2 3% % %5} #] PowerLok Receptacle G2 Installation Instructions

BELZRERER
Receptacle Install Panel Requirements

1 HREEFRRUOT RS

1 Panel Thickness should According to bellow Table

L ]

ZRREE
Panel Thickness

4LTM—
F 1 1

T
FmR5 EXEREE
A Series Max. Panel Thickness
i
{ 1 300 Series 12mm
h I
500 Series 17mm

2 HREHEEZEMX NS TER:

2 The contact area between panel and receptacle shall meet the following requirements:

2-1 REEMERN N3 2R EHF

2-1 Surfaceness should be 3.2 or Better

2-2 EAR Sl B AR X H M %5 5

2-2 The area where the panel contacts the receptacle shall be electrically conductive.

23 FARTREAAERLTR

2-3 Hole size and chamfer requirements are shown on the next page

0.50+0.10x60"(for coil spring lead in)

C0.320.10"60° ( For coil spring lead in )

¥ q
7 | 300A | ,
7 | 3005004 1 POS POSEPOS [/ A

20211109_ Rev.06 Document No: 8P1119 01/06



PowerLok G2 382338 PowerLok Receptacle G2 Installation Instructions

]
R RERER

Receptacle Install Panel Requirements

Reconumended pane ool aut

M FHHTAE Recommended Panel cuf out size
2700 010
A-MJx0. 7 2-4.00 £0.10
Secondary key

(Blind holes)
Depth: Smm min.

3.50 REF

1

| 26,50 min |

T

y w2 i
| M
11
U
.10 2-5.00 20.10 (for gasket only)
R135.45 -005 i |

2700 #0310

@ 25,90 +0.05

&5 G
A
F2E0 REF
3]
[ ) N
AR
1
|
| i
|
\ -
i
{5 0 41 4.0

( R3.1020.20 ! 1
Surface finish area
Primary key | .u""
ﬁ o W0
S-R2.5020.10 |\ 36.50 min. | a o E
-
%-‘ Dim A/B: different Key use different angle size Fertaca fioiek sran |r 10 50 Y0 'E -
(o garier qni | w
JB2O0 4010 E 4
-
™
Recommendad pane/ cut out
45, S i & AL B Recommended penel cul oul sin
120 REF ! L-RIZ.60 #0110 {Bl¥nd hailes) T T+ 1| E—
| —CsRi
{"-’ . .-"'f Dapth Smim m.
:ﬁ Fasoto e -
f |
r/, L

u |-
) - - 2-4.00% 0 10
Socondary koy
2000 #4101 10 — = .

S— 10
RIS 305

] T . 1
i ’f.‘{' “ Furface fniksh ares ﬂ gr-,l:ltl:l -
4 29,100 #1100 Ller gasket aniy)
| amo0soIn

S5 Gmin
2 50 REF

F5 00 4.1

10
B A 10

G0 2.3

Nkep: 6, VEey -6

—]
I

i EgEd in

{2l D rriin)

J_.Actt’________k),f

_r:r____

o é
“ R3.75t0.20) .

3 Surface finish area r i vy [ ﬂﬂﬂjea:ﬂljﬁmmm
i P O i i
Forgasker anll | ! £-RZ 50050 Primary key

= ——%Tm
1 1
W A-A @ 300

300A 3 POS S00A 1POS

HARTRERESREFELER

Detail dimensions and requirements refer to customer drawing

20211109_ Rev.06 Document No: 8P1119 02/06



PowerLok G2 3% % %5} #] PowerLok Receptacle G2 Installation Instructions

]
Z LB Installation Steps

B 1 BETR— EEXNRERD

Apply proper torque according to table.1 below.

ik Z
|n§§ ?o?sfnﬁ [i)eata table 1
% .
kA Scrﬁ%ﬂﬁard ﬁlgfs{ngi)::; )
1 POS 300A & 500A M4 1.6~2.4Nm
2 POS & 3 POS 300A M6 6.2~7.6Nm
All(screw on terminal) M6 6.2~7.6N.m
All(screw on terminal) M8 7.2~8.8Nm
All(screw on terminal) M10 17.1~20.9Nm

B 2&ER&ENZETE. Choose proper install tools.

S(EB)FRITE BEFHANITE
pneumatic (electric) powered torque tools Digital display hand torque tools

A =———m—

'

S

B YEEEAER , FBRBERERLBATXRE

Insert receptacle into panel hole, ensure coil spring fully seat and not be pinched

THBRETE

Gasket be installed evenly

20211109_ Rev.06 Document No: 8P1119 03/06



PowerLok G2 3% % %5} #] PowerLok Receptacle G2 Installation Instructions

Z 3 LB, Installation Steps

B 4 ABNEEAMABMERLE EEREER L , PRERTEHS 1507092 EXR,

Then fix the receptacle on the mounting panel with M4 or M6 screws, and the plain washers size must
meet ISO7092 requirements.

FEEFARY
243
RLHRE Dimensions of plain
washers (max mm)

Product series

FEmR5 Screw SPEC

PL300 PL500 1POS M4 9

PL300 2POS 3POS M6 12

B 55T EBuBEN TSRS RLE

The screw on the terminal shall be handled according to the following steps

5-1 AR LR A BN R

5-1 Put the auxiliary tool in the receptacle

FmR5 BEES
Series Tool number
300 Series AC-CP001504
500 Series AC-CP001505

/|
20211109_ Rev.06 Document No: 8P1119 04/06



PowerLok G2 &P %%:1iH PowerLok Receptacle G2 Installation Instructions

LS Installation Steps

52 ZRAESREMEENRETEHFHHRE
5-2 Refer to the previous steps to select the appropriate installation tools and adjust the torque
5-3 SIRRLHRY , ARFHNEITIRESSE

5-3 Lock the screw or nut , Stop fastening screw until the alarm sound is heard if use a

wrench.

5-4 BIHZEIRE,

5-4 taking out the fixture.

B 6 ERZEERERBTRR , PINGEEHERE

Check product after Complete installation, Any damage on plastic is not allowed, any deformation on

Pin is not allowed.

05/06

20211109_ Rev.06 Document No: 8P1119



PowerLok G2 382338 PowerLok Receptacle G2 Installation Instructions

7 ELAARFEREMLSZEENMEN S , BNEFSETHENNIRASEK

Need to do the Insulation Resistance and DWYV test after cable assembily. It is recommended that the
customer refer to the following test parameters

7-1 48 45 5 BE iR,

7-1 Insulation Resistance

Positions Test voltage/time MRETE] ( #EF ) Insulation resistance
& 34 B /Bt [ Test Time ( recommended) 4% BB FH

Cable(power) to shell

EB A S T 4 1000 VDC > 500 MQ
Cable(power) to HVIL
B4 R T B IR E A 1000 VDC 58 > 500 MQ
HVIL to shell
e EE s 1000 VDC 1S > 100 MQ

7-2 Dielectric Withstand Voltage
7-2 Tt 1

Positions Test voltage W E] (HEEE ) Leakage Current
g i B8 E Test Time ( recommended) RER

Cable(power) to shell
RS BIF 5000 VDC 108

<5mA
Cable(power) to HVIL
BATLISERH 5000 VDC 10S <A
HVIL to shell
= EE SIS 500 VDC 1s oA

7-3 M= i BR :

B EUNBESNARESHERFELRNARRAITEE , MARZSEH P ILRAEAGR4G, RHEHSHK

=& TPowerlokiE 2R M EIEH1000VDCHE, RHUNNIASHATGEBHBLHANRIRE LEM E@Ef\ﬂzﬁ[‘ﬁ:/
PRI PR .

7-3 Test note:

caution: Recommended electrical tests and their parameters should be reviewed against end
application requirements to ensure safety and to prevent damage to other components. Parameters
provided are based on the PowerLok connectors and their peak 1000VDC rating. Test parameters

provided may exceed the limit of other components/materials used on the cable assembly or device.

/|
20211109_ Rev.06 Document No: 8P1119

06/06



Amphenol Technical Products International provides the above product specifications for the standard PowerLok series of
connectors to assist users in identifying the correct product for the system to which the connectors may be applied. Specifications are
subject to change without notice. Contact your nearest Amphenol Corporation Sales Office for the latest specifications. All
statements, information and data given herein are believed to be accurate and reliable but are presented without guarantee,
warranty, or responsibility of any kind, expressed or implied. Statements of suggestions concerning possible use of our products are
made without representation or warranty that any such use is free of patent infringement and are not recommendations to infringe
any patent. Specifications are typical and may not apply to all connectors. Note that these specifications are derived from relevant
global standards used in the automotive and industrial transportation markets, but they are not a substitute for system level design

validation testing, which is the sole responsibility of the system designer and/or end user.

Asia Pacific

ChangzZhou, China

Tel: +86 519-8981 9713

Add: No.11 Fengxiang Road, New District, Changzhou, Jiangsu
P.C: 213001

Asia Pacific

GuangZhou, China

Tel: +86 20-3210 6099

Add: 9th Floor, No. 10, the 4th Street, Kehui Jingu, Luogang District, Guangzhou ,Guangdong
P.C: 510663

North America

Winnipeg, Canada

Tel: +1 204 697 2222

Add: 2110 Notre Dame Avenue

Europe

Milano, Italy

Tel: +39 02 932541

Add: Via Barbaiana 5, 20020 Lainate(MI)

Email: info@Amphenol-GEC.com



